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Demand Curves for Competitive and Monopoly Firms

Price

(a) A Competitive Firm's Demand Curve

Demand

Quantity of Output

Price

0

(b) A Monopolist's Demand Curve

Demand

Quantity of Output



A Monopoly’s Revenue
o]

e Total Revenue
Px Q=TR

e Average Revenue
TR/IQ=AR =P

e Marginal Revenue
ATR/AQ = MR
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A Monopoly’s Total, Average, and Marginal Revenue

Quantity
of
Water Price Total Revenue Average Revenue Marginal Revenue
(Q) (P) (TR=P X Q) (AR = TR/Q) (MR = ATR/AQ)

0 gallons $11 $0 —
$10

1 10 10 $10
8

2 9 18 9
6

3 8 24 8
4

4 7 28 7
2

5 6 30 6
0

6 5 30 5
-2

7 4 28 4
—4

8 3 24 3
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A Monopoly’s Revenue
]

e A Monopoly’'s Marginal Revenue

- A monopolist’s marginal revenue is always /ess
than the price of its good.
e The demand curve is downward sloping.

e \When a monopoly drops the price to sell one more unit,
the revenue received from previously sold units also
decreases.
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A Monopoly’s Revenue
]

e A Monopoly’'s Marginal Revenue

- When a monopoly increases the amount it sells, it
has two effects on total revenue (P x Q).
e The output effect—more output is sold, so Qs higher.
e The price effect—price falls, so Pis lower.
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Demand and Marginal-Revenue Curves for a Monopoly
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Profit Maximization
« ]

e A monopoly maximizes profit by producing
the quantity at which marginal revenue
equals marginal cost.

MR = MC

&JL&A—\S\ J}A\ IR Gu\.u.u\s 69 A A Alad) 'L




Profit Maximization for a Monopoly

Costs and
Revenue

Monopoly
price

2....and then the demand 1. The intersection of the

curve shows the price marginal-revenue curve

consistent with this quantity. and the marginal-cost
/ curve determines the

B profit-maximizing

quantity . . .

Average total cost

Marginal Demand

Marginal revenue

O1 Q/;/IAX Q> Quantity



Profit Maximization
« ]

e Comparing Monopoly and Competition
- For a competitive firm, price equals marginal cost.
P=MR=MC

- For a monopoly firm, price exceeds marginal cost.
P>MR =MC
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A Monopoly’s Profit
]

e Profit equals total revenue minus total costs.
- Profit=7R- 7TC
- Profit=(7RIQ- TC/Q) x Q
- Profit=(P-ATCO) x Q
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Costs and
Revenue

Monopoly
price

The Monopolist’s Profit

Marginal cost

Average total cost

Average. ..................................
total | P
cost Demand
Marginal revenue
0 O Quantity



A Monopolist’s Profit
|

e The monopolist will receive economic profits
as long as price Is greater than average total
cost.
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Profit Maximization

Q P TR | TC |Profit; MR | MC | ATC
0 $1750 $0 $1000 | -$1000 - -

1 $1700 | $1700 | $2000 | -$300 | !1700 | $1000 | $2000
2 $1650 | $3300 | $2800 | $500 | $1600 | $800 | %1400
3 $1600 | $4800 | $3500 | $1300 | $1500 | $700 | $1,167
4 $1550 | $6200 | $4000 | $2200 | $1400 | $500 | $1000
5 $1500 | $7500 | $4500 | $3000 | $1300 | $500 $900

6 $1450 | $8700 | $5200 | $3500 | $1200 | $700 $867

7 $1400 | $9800 | $6000 | $3800 | $1100 | $800 $857

38 $1350 | $10800 | $7000 | $3800 | $1000 | $1000 | $875

9 $1300 | $11700 | $9000 | $2700 | $900 | $2000 | $1000

—
(0]




Total Revenue, Marginal Revenue and Price

Table 10.1 Revenue, Costs, and Profits for a Monopoly
(price, revenue, and cost measured in dollars)

Market Demand

Quantity
Produced Total Marginal Total Marginal
and Sold Price Revenue Revenue Costs Cost
(Q) (P) (TR) (MR) (TO) (MQO) Profits
0 160 0 — 70 - —~70
1 150 150 150 79 9 71
2 140 280 130 84 5 196
3 130 390 110 94 10 296
- 120 480 90 114 20 366
5 110 550 70 148 34 402
6 100 600 50 196 48 404
7 90 630 30 261 65 369
8 80 640 10 351 90 289
9 70 630 10 481 130 149
10 60 600 —30 656 175 —56
7 & o i
TR=PXQ Change in TR Change in TC TR = TC

Change in Q Change in Q




Total Revenue, Marginal Revenue and Price

DOLLARS
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